

EQU-F1-021- **Testo**

Risolvere la seguente equazione:
$$\frac{3X + 2}{X - 4} - \frac{2 - X}{X + 1} = 3 + \frac{X + 12}{X - 4}$$

EQU-F1-021- **Procedimento**

Condizioni:

$$X - 4 \neq 0 \rightarrow X \neq 4$$

$$X + 1 \neq 0 \rightarrow X \neq -1$$

Svolgimento:

$$\frac{3X + 2}{X - 4} - \frac{2 - X}{X + 1} - 3 - \frac{X + 12}{X - 4} = 0$$

$$\frac{(3X + 2)}{(X - 4)} - \frac{(2 - X)}{(X + 1)} - \frac{3}{1} - \frac{(X + 12)}{(X - 4)} = 0$$

$$\frac{(3X + 2)(X + 1) - (2 - X)(X - 4) - 3(X - 4)(X + 1) - (X + 12)(X + 1)}{(X - 4)(X + 1)} = 0$$

$$(3X + 2)(X + 1) - (2 - X)(X - 4) - 3(X - 4)(X + 1) - (X + 12)(X + 1) = 0$$

$$(3X^2 + 2X + 3X + 2) - (2X - 8 - X^2 + 4X) - 3(X^2 + X - 4X - 4) - (X^2 + X + 12X + 12) = 0$$

$$3X^2 + 2X + 3X + 2 - 2X + 8 + X^2 - 4X - 3X^2 - 3X + 12X + 12 - X^2 - X - 12X - 12 = 0$$

$$0X^2 - 5X + 10 = 0$$

$$-5X + 10 = 0$$

$$-5X = -10$$

$$5X = 10$$

$$X = \frac{10}{5} = 2 \quad \text{accettabile}$$

EQU-F1-021- **Soluzione**

$$X = 2$$